© Copyright : Gatic Pty Ltd - 2015

N
w
IN
o
o

10

11

12

13

14

15 16

————— B 72
{«==3|is NG MG ) [ — ) N\
= I
Eéo50000000OOOOOOOOOOOOOOOOQ} 7
200000000000 0000000080008 |
ATKOXPXOXOXOXOXPOXOXOXIXIXPXOXOXOXIXIXOXOXD OXIXPOXVA =
UOR000000000000000000000000000 L
= IR0 0000000000 0000000000004 k= 7
B /[FOXOXMXPXPXPXPXOXOXIXOXIXIXIXIXPXPXOXOXOXOXIXOXIXIXIXOXH |
ROXOXOXOXOROXPXPXPXOXOXIXIXPXOXOXOXIKIXOXOXDOXIXPXOXOX 7
O00000000-00000000-0008:00000 _
XXX KPP PP OXOXOXOXIXIXPXPXPXPXOXOXOXIX N IXIXPXOXOX | —=
O O X ﬁ
I20000:0:0:0000:0000-0:0000000:00:0:0:8( U ¢ 3 S
] e s e oraeeraratelsrasaetoraorc e I I N N | =
OLOX KPP XXX OXOXIXIXPXPXPXPXOXOXOXIX N PXIXPXOXOX 7 ”
Q0000000000000 0000 000000000 _
ROXIXPXPXPXPXOXOXOXOXIXIXPXPXPXPXOXOXOXIX N IXIXIXOXOX | o=
OO0 0000000000000 00000000000
RORX KPP OXOXOXOXIXIXPXPKPXPXOXOXOXIX D OXIXPXOXOX 7
= OO0 00000000000 00000000 122
S RO00000 0000000000000 0000004 M ?
. QQQQQQQQQQQQQQQQQQQQOO O =
XXX XX XXX XX XX XX XX XX XXX XX OO
1000000000000 00000000000 00004 7
I meen e O GOOGOG OO E
L OO OO OO TRrerd | IO OO EN Ll |
'\k. i JIC IC UC ' )L Nl/ 8 only.of M10x50 Hex head
- B SECTION B-B oA washers and muter
= Item Drwag. Rev. Title Material Qty. Mass
1144 No.
1 2376 D 914x914 C/O Solid Top Cover Class D Ductile Iron 500-7 1 123.9 kg
2 1681 A Plastic Keyhole Plug UV Stabilized Nylon 6 0.0 kg
3 4014 C 914mm LH Side Bar Class D Ductile Iron 500-7 1 13.9 kg
- - 4 4015 C 914mm RH Side Bar Class D Ductile Iron 500-7 1 13.8 kg
§ — l - ll Il ll l] ll l] fﬁi l = 5 4016 B 914mm Under Cut Bar Class D Ductile Iron 500-7 1 12.8 kg
T 6 4013 B 914mm Draw Cut Bar Class D Ductile Iron 500-7 1 15.4 kg
| 914 C/O 7 2856 A M10 Washer Nylon, general purpose | 2 0.0 kg
SECTION A-A 8 2857 A M10x65 Socket Head Cap Bolt Stainless Steel, 304 2 0.1 kg
9 2855 A M10 Washer Stainless Steel, 304 2 0.0 kg
10 2854 C Plastic Plug @26 mm UV Stabilized Nylon 2 0.0 kg
el oae” mﬁ@%le T ol 0T | i 3 | %%%gﬁﬁﬁﬁW$ﬂ“uﬁmﬁﬁx ﬁ%:ﬁiﬁﬁﬁﬁmlalm | 5074 | TA




